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QUESTION 1

Identify the component marked as B in the Cloud Connection scenario that shows a persistent connection established
between the customer\\'s environment and the IBM Cloud.

A. Virtual Router Appliance
B. Secure Gateway Client

C. Secure Gateway Service
D. Cloud Gateway Appliance

Correct Answer: D

QUESTION 2

What does an IBM Cloud Container Registry provide?

A. A collection of multiple zones rules that allow inbound connections to reach the cluster services

B. A collection of multiple regions rules that allow inbound connections to reach the cluster services

C. Multi-tenant, highly available, and scalable private image registry that is hosted and managed by IBM
D. Single-tenant, highly available, and scalable private image registry that is hosted and managed by IBM

Correct Answer: C

QUESTION 3

Why should removing the Veeam service from a deployment be done with caution?
A. Agents are left on the VSIs which can degrade performance

B. The service agreement carries cancellation costs of up to 1 year

C. If a backup is currently running, it can corrupt the filesystem

D. Doing so irreversibly deletes all the previous backups

Correct Answer: A

QUESTION 4
A. Watson service credentials

B. An open-source system named Cloud Foundry
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C. A platform-built using Docker to run and manage your applications
D. IBM Cloud Identity and Access Management (IAM)

Correct Answer: D

QUESTION 5

Which of the following aggregates logs in IBM Log Analysis with LogDNA?
A. Distributed logging system

B. Private cloud system built for logging

C. On-premises logging system

D. Centralized logging system

Correct Answer: D
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